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B.Com. (Part-lll) Examination, 2017
First Paper -
(Income Tax)

Note: Answer five questions in all. Short answer type question No. 1
carrying 40 marks is compulsory. Answer one question carrying
15 marks from each unit. o
1. fefafea o SHE 39 & I TN | . 4x10=40
Answer the following short answer Type questions—
(i) STIH T 1 3NuR AR oy w2
What is the basis and procedure of charging Income Tax ?

(i) ‘T’ § T N TR € 2 THh AYAR S |
What do you mean by “Previous Year” ? Explain its exceptions.

(iii) X S I ! AT SN FA AT H T S | |
Explain any eight incomes which are not included in total income.

(iv) T8 T&M F1 as Tea 9 ey war Faita <35 s @ o 3 59
gy & faw Tl @ a2
How would you determire the annual value of a hense property which

“remained vacant for part of the previous year ?
(v) & 3 ¥ =39 a4 Tg € W U SR § L Arg-adl i o
aTitd € 2 -
What are those expenses and losses which are disallowed in computing
taxable prefits of a business ?

(vi) ST Afafes ¥ Em s o-a U QS T A € ?
What do you understand by the term “Capital gains™” used in the
Income Tax Act ?

(vii) T & N THA Nfaqfad = aa=d |
Explain Tax Free Non-Govt. Securities.
(vii) AR TR S PR weEd € 2
What are deemed incomes ?

(ix) FT FEeE @ X 999 § 3 SaRg |

Distinguish between “Tax Planning” and “Tax Avoidance”.

(x) A a9 1 e fuifia fafe o <ifaa == foFan st @ =90 W feamm

HAUS T ST |
If return of income is not filed within the specified date, how much
penalty shall be imposed on him ?
Unit-|
2.  “X" T% A A, B TR ¥ e o e et | 15

(i) 7 ¥ o = fafg o o SR $a o T 6,30,000 € |
(i) WE | 9 & TR TEE e & T 6,50,000 # |

I9F F A F A FifaC 3 98 IRa | (F) 1 faas) 2016
IS (W) 30 S, 2016 MR
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‘X’ a citizen of India, got an appointment letter from Singapore.
(i) Hisestimated total income till the departure from India is ¥ 6.30,000.
(ii) His foreign income after leaving India is ¥ 6,50,000.

Compute this tax liability if he leaves India on—

(a) Ist September, 2016

(b) 30th October, 2016 Or
T AR TR W ¥ gEa @ 1 99 15,000 T Wifew gw A 2,500 2
TR TR e T 2,500 T WG HETS W fied £ | 15

3J 2015-16 ¥ f=1 R 3k fidi—

(i) 16,500 ¥ o1 =em= =T =0 |

(i) D T== & AT 200 T wfEw wfa == a0 w1 |

(iii) THH1 Uoh Feah BEATER A TEa1 € 39 T 300 T 9 @ w4 s |
38 39 @9 @it g faw 500 T wies omam T fem €

(iv) TR "fagfd == 250 T A |

(v) Tt 991 400 T WG, S 90 T & FooThad B & & o 2 |

(vi) WT foTran 9w 2,500 T wifes, 93,000 T 9GS AaH &1 50 2
?
H1-Fafter g9 2016-17 % fow F3-209 397 51 O SN |

Raman is employed as an Engine Driver in Indian Railways. He getting ¥
15,000 p.m. as Basic Pay; ¥ 2,500 p.m. as Dearness pay and ¥ 2,500 per
mionth as Deamness allowance. During 2015-16, he received the allowances
also—
(1) T 16, 500 as Running allowance.
(i) ¥ 200 p.m. per child as Educational aliowance for his two children.
(ii1) One ofhis sons is staying in a hostel on which Raman is spending ¥ 800
p.m. He s getting T 500 p.m. for his son as Hostel Allowance for meeting
this expenditure.
(iv) ¥ 250 p.m. as (C.C.A.) city compensatory allowance.
{v) T 400 p.m. as Uniform allowance fully spent for employment purposes.
(vi) ¥2,500 p.m.asH.R.A. He pays " 3,000 p.m. asrent to House Owner.
Compute his Taxable Salary for the A.Y. 2016-17.
Unit-i

3 feeeht ¥ U Hem-TRi ST € | 39 TR i Jedied 75,000 T
sfaa fatrn 1,00,000 T, wRs R 90,000 T 3 | 3F 90,000 T Iifdw

FRTr T 3o gan € 1 ST g 4 TReaE F 10,000 ¥ ¥ WY FHEH
% @ 7 fFUaeR ¥ Tagiar iR gen € e Rk srRafere ® a
ST AT | W @ EER & e giaesll w uw ansie
Tt ot =5 e 8- 2

It = 1.000
o ¥ TE-TEE W =T 1,000
WA i I W Y 800
Tl &1 a1 1,200
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TEM F @Rl 53 Fefadl & |5 S § '

T 30,000
AT 1,000
TIE =Y 2,000
f5 59 W e o 8, 3 W9 B F FELT o1 24,000

F-frafeor 9§ 2016-17 F a0 9H-w1d § R A9 3G K TOA
HiT |

A is the owner of a house property in Delhi. Its M.V.is ¥ 75,000, FR. is
< 1,00,000, Standard rent is ¥ 90,000. It has been let out for ¥ 90,000 p.a.
The Municipal tax payable by the pwner comes to ¥ 10,000 but the
landlord has taken an agreemert from the tenant stating that the tenant
would pay the tax direct to the mu:nicipality. The landlord however, bears

the following expenses on tenant s unenities under an agreement— 4
Water charges 1,000
Lift Maintenance 1,000
Lighting of stairs 800
Gardener’s Salary 1,200
The landlord claims the following deductions—

Repairs ' 30,000
Land Revenue 1,060
Collection charges 2,000
Legal expenses incurred in connection with the purchase of

land on which the house is built 24,000

Compute the taxable income from house property for the assessment year
2016-17. Or
S, S 3 WehFI ol xanft &, v o fera femsht wem-wwty 9 23 w8,

2015 S 25,00,000F ¥ 99 O T | 9% WHE 317 1 30849, 1987 9 3,00,000

¥ e o &1 130 W€, 2015 51 20 g ¥ U T 8,70,000 TH T
AR F @ & foe wa fdan 0 =, 2016 % S 3 19 W are W
12,10,000 # =9 e |

3 AR | 3T EU SN N F TOM FINE | 1 S TR e wm
H G 54 % I B B IH R AR © | 1987-88 1 2015-10 a6
=1 % foT oTa Tt T wa9: 150 a2 1081 # |

S, an owner of three houses, sclis a residential house in Chennai for
¥25,00,000 on May 23, 2015. This house was purchased by him on April
1, 1987 for T 3,00,000. On May 37 2015, he purchased a flat in Mumbai
for ¥ 8,70,000 for the purpose of the residence of his son-in-law. On
March 1, 2016 S sells the house in Mumbai for ¥ 12,10,000.
Compute the capital gains arising on the two transactions. Is S eligible for
exemption under section 54 in respect of the second sale ? Cost Inflation

Index for the financial years 1987-88 and 2015-16 are 150 and 1081
respectively.
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Unit-lll

(31) w1 =1 S & A 7 3! YR % TaEml S SEERd | 07
(=) &RT 80F U4 |r1 80 TTA it TR | 08
(a) Explain the provision regarding carry forward and set-off of losses.
(b) Explainthe duductions U/S 80Eand U/S 80 TTA. Or
Eiaﬁ:waﬁﬁaﬁm-ﬁﬂfrm T4 2016-17 | TF@ Fa 7 7= R
— 4
(1) =R § J[ _ 3,17,000

(2) A.O.P. Q4 &% & 1/3 97 59 | tfEma qwm
AT THE 50,000
(3) FH | TN F 1/4 9 | © 42,000
(4) TFA-Tfa § ™ (O & ) 50,000
(5) wafy 591 W §& =S 20,000
TEHA Fl TH T 4,79, 000

- Frefor 3 2016-17 % fog sae X DT @ S 3l 3T Ie i
W M F-AF o7 2,75,000 T T |
The gross total income of a diszbled individual for the assessment year

2016-17 consists of the following - X
(1) Income from Business 3,17,000
(2) One-third share from A.O.P. ~vhich has been taxed

at maximum marginal rate 50,000
(3) One-fourth share in profit from a firm 42,000
(4) Income from House Property (computed) 50,000
(5) Bank Interest on time deposit 20,000

Gross Total Income < 4,79, 000

Find out his tax liability for the assessment year 2016-17 if his wife has
also a taxable income of ¥ 2,75,000.
Unit-IV _
(37) & it fog AR & o Feikor & sar WavH s 7
() w2 Frafoor & o=y ‘s Ay’ & SRe e afEd
i | | 8
(a) Describe the basis of assessment of a Hindu Undivided family.
(b) Explain and illustrate the term “Book-Profit” in relation to the assess-
ment of firm. : | Or
% ifg w-Frafor Fn € 2 ¥ fe oot | e s € o 3@
e-Fraivor ¥ o oftom B € 2 T IR Fraftor i 1| sigar denfa w3
F I &1 | 0 =G | |
What is an ex-parte assessment ? In what circumstances it is made and
what are the consequences that flow from such an assessment ? Alsc state
the remedies open to get such an assessment set aside or modified.
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